SO FE mMEEARER
=M RIE AR MR
S 4 FEKRKANZEEEST)
1 EXEGE OFHEE XEREROHA
/N 7 N4 él\§+
R R T GEF YA
EXLN e 187,465 41,097 248,306
WNIEJeHka 5 181,893 46,818 246,071
2 HEBIDOR AL - kKA : 6574 (1,260AN)
<R >
o g 5 (E1E %) SRAEL (EIE %)
7 = {0y 127 (19%) 228 (18%)
) =) 42( 6%) 61( 5%)
&R R 255(39%) 480 (38%)
[ | 18( 3%) 30( 2%)
ZF D 215(33%) 461 (37%)
A& &t 657 (100%) 1, 260(100%)
<Pt - A HORERE >
R 5 (EIE %) RN (EIE %)
v =] 2 (15%) 2(17%)
= il] 0( 0%) 0( 0%)
LR RE 6 (46%) 5 (42%)
ZDih 5 (39%) 5 (42%)
& &t 13( 100%) 12( 100%)
T4 &K<

*24E4%  BESREER (FERIZT7 V77— N EERE)
147 : BENHITW
2L - BB EDFRHE
37 BER DA
347 NFBAFRA R

3N IEERAREN LoD LTS




